A & ol & AF Y E A A
20169 £ 335 TRMMBISHE
H: o200 Mol
2210 ALHASSY
& 211 WAL+ (29 &)
Z-#-8-2 0l &t o pIE-E" HZE2
ES Al 3,634,708 3,047,038 587,670
200 Al2l==2 641,670 54,000 587,670
210 24 EMel = 392,418 54,000 338,418
211 a2 255,535 54,000 201,535
211-02 SRMLAUHE 255,535 54,000 201,535
< WS > 255,535 54,000 201,535
OLADNFINIHEHAES (L H D) 34,471 0 34,471
OZREURBE(S4HaE D) 1,258 0 1,253
O2x0=ZHH MEZ(SF2Z =) 12,035 0 12,035
OBFMALUHZ (HR1) 134,101 50,000 84,101
Ozl (ML) 5,557 4,000 1,557
OEEMEE(HED) 89 0 89
Os3HAAMSES (NI Z M) 12,778 0 12,778
OFUAZASS(2A A D) 55,251,000 55,251 0 55,251
212 g ¢ 135,171 0 135,171
212-01 E2AMEES 26,495 0 26,495
< WS > 26,495 0 26,495
CEFE(HEM) 26,495,000 26,495 0 26,495
212-07 &= +¢ 615 0 615
< R > 615 0 615
O=0MSHH LdEZ(SSAE AL A 615,000 615 0 615
212-08 JIEtALE & 108,061 0 108,061
< WS > 108,061 0 108,061
OYANXZEHE ASE(2S2EXZ1) 80,461,000 80,461 0 80,461
OQHENSIR ANEASE(SSAEHAGL) 3,300,000 3,300 0 3,300
OMET AES(SSAEZlAEL) 2,400,000 2,400 0 2,400
OFUNMSHEH B2 (SSALEZ2IAE L 17,000,000 17,000 0 17,000
O=0sl& AABE (23 AL22/AIE L) 4,500 0 4,500
OSSNUSME NBR(DTALBIANYL) 400 0 400
216 Ol Xt==¢ 1,712 0 1,712
216-01 23030l X == 1,712 0 1,712
< WS > 1,712 0 1,712
SS0HS0I Xt (TR 2H) 1,712 0 1,712
220 SAEMEL = 249,252 0 249,252
221 THAHOH 2F =& 235,003 0 235,003




220 SAIHAN LA+

200 Al2l=+=¢
221 M
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